ERIE (T )

S (P k)
i = HE BE =33
AHERATSH Yl $2.00 1 $2.00
e $2.00 2
JiEER $2.00 1 (BfTERBRER)
L $2.00 2
HHEEATSH (F120) FEL $2.00 2 $4.00
th3z $3.00 1 $3.00
e $3.00 4 $12.00
Yk $3.00 1 $3.00
KETH B (FED) $3.00 2
B EE) $3.00 1 L _
e $3.00 1 (BfTERBRER)
L $3.00 1
REATH (330) FEL $3.00 1 $3.00
ELE i $3.00 1 (BFFAERREED)
. 2 $6.00 2 $12.00
BHATAR — —
s $6.00 1 (BT ERBRER)
HR ST R ESTER $6.00 1 $6.00
SLAESLAR(AI) $13.00 0.5 $6.50
AR $6.00 0.5 $3.00
FLL =] $2.00 1 $2.00
ji5=
ISR () i = $2.00 - 5200
i = $2.00 1 — -
S = $2.00 1 (BfTERBRER)
Hh3Z 41 $3.00 1 $3.00
=25 5 $3.00 1 $3.00
Hh3Z N $3.00 1 $3.00
B $3.00 1 $3.00
T % $3.00 1 $3.00
A = $3.00 1 $3.00
ik & $3.00 1 $3.00
Yk = $3.00 1 $3.00
3 &% $3.00 1
i 5 $3.00 1
AGERIIE ($TFL) i ¥ 15 $3.00 1
o % $3.00 1
{EE2 &k $3.00 1
B (FEE) A $3.00 1
B EED 53 $3.00 1 (BfTERBRER)
8% & $3.00 1
iz % $3.00 1
e $3.00 1
kG 4L $3.00 1
PE (DSE) B $7.00 1
PE (DSE) &1 $7.00 1
- . FL 4 $16.00 1 $16.00
Ad Ring File (FEEE) HL3L T4k $16.00 1 $16.00
4 ET $114.50

* BT EER AR ERECU T RE R B AAE - AT RREETTER
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